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JAWAHARLAT NEHRU TECHNOLOGICAL UNIYERSTIYTYPBRABAD

B.Tech II Year II Semester Examinations, May - 2016
COMPUTER ORGANIZATION
(Computer Science and Engineering)

Max. Marks: 75

Part A is compulsory whi'ch carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from each unit.
Each question carries 10 marks and may have a. b, c as sub questions.

PART - A,"" (25'Maiks)
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Time: 3 Hours

1.a) What is the role of PC,IR registers?
b) How many references to memorv are needed for direct address

bring an open ancl into a processor register?
What are the advantages of DMA?
Explaiu.iihiii-chain prioi.ity"iirteffupr.'..:
What is'liif ritio?

tt3l

What is the transfer rate of an eight-track magnetic tape
120 inches per second and whose density is 1600 bits per inch?
What is the f-unction of 8086 index registers?
What is.non-maskable inlerrupt?
What is the use of 'CMPS" 8086 instnrctron?
Explain 'ROR' 5nd 'ROL' 8086 instruct.ions.

PART - B

e^pfuin var ious instruction forn-rats.

oR ,..

Explain various addressing modes with examples.

Draw and explain the block diagram of DMA controller.
OR

Explain source-initiatecl and destrnation initiated data transfer using handshakin-e.
:" 
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6. The access time of a cache memory is 100 ns and that of main memory 1000 ns. It
is estimated that 80o/o of the memory requests for 'read' and remainilg 2A7o for

' 'write'. The hit ratio for read accesses only is 0.9. A write-through procedure is
;':,': USed. I r

"" :: a) Whaf isithe average ,.."r, tirne of rhe system considering'only
.cycles?

b) What is average access time of the sirstem considering only
cycles'/

. c) What is the hit ratto taking ir.rto consideration the write cycles?
OR
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Explain'the set-as sociatiVe inapping of circhL' hemory.
Write short notes on virtual memory.

Explain the fields in 8086 flag register.
OR

Exptai 4, l{ri 
jiin di agram;iig Ao s o wi th figu.ipi", ",

Write 8086 assembly 1anguage program to convert a
Equivalent BCD number.
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,...11, , Write a 8"096 assembly

,..' : , ,, :

program to find two l6-bit operands.
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